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5.1.1 Enterprise Network

What does hierarchical enterprise facilitate?

What do the branch offices connect to?

Why must organization create a hierarchy?

Where do crucial information and services typically reside?

What does communication between different levels of the hierarchy require?

5.1.1(2)

How do network professionals ensure a high level of reliability and services?

5.1.2 Enterprise Topologies

Why it is important to choose the right physical topology?

What is a star topology and what does it provide?

What is an extended star?

5.1.1 (2)

What is a mesh topology and what is the advantage and disadvantage of mesh?

What is a partial mesh and what does it provide?

What is a full mesh and where is it used?

5.1.2 (3)

Why is the topology of the Internet constantly changing?

What do redundant connections do to the traffic?

5.1.3 Static and Dynamic Routing

what doe the physical topology of an enterprise network provide?

What is a routing table and what is the importance to have a routing table?

What is the exit interface?

Why doe the table attach a number to each route?

Study the rollover on the right.

5.1.3 (2)

What are directly connected routes and why important to have directly connected routes?

What are static routes and why important to have them?

What are dynamic routes and why important to have them on the network?

Study the rollover on the right.

5.1.3 (4)

What is a stub network?

Why do some small branch offices in some enterprise networks have only one possible path to reach the rest of the network?

Why do border routers use static routes?

5.1.3 (5)

What do routers in an enterprise network use bandwidth, memory, and processing resources?

What do static routing provide?

Why does static routing provide more security than dynamic routing?

What are the issues of static routing?

Take a look at the chart on the right.

5.1.4 Configuring Static Routes

What is ip route?

Give an example for the command of ip route.

Before a router forwards any packet, what does the routing table process determine?

What do static routes configured with exit interfaces require?

What are static routes configured with exit interfaces ideal for?

5.1.4 (2)

What is recursive lookup?

What happens in a recursive lookup?

What happens if an exit interface is disabled and what happens if the interface is re-enabled?

Study the figure on the right.

5.1.4 (3)

What is the benefit of summarizing several static routes as a single entry?

How does a single static route summarize multiple static routes?

What will happen to routing tables within Internet core router without summary routes?

5.1.4 (5)

What do static routes provide when the primary WAN link fails and what is that feature called?

Does a static route have a higher or lower administrative distance than the route learned from a dynamic routing protocol by default?

When does the floating static route entry appear in the routing table?

How to create a floating static route?

Should the administrative distance specified be greater or less than the AD assigned to the dynamic routing protocol?

Click Play to view the use of floating static routes on the right.

5.1.5 Default Routes

Why cannot routing tables contain routes to every possible internet site?

What will happen when the routing table does not contain a path to a destination?

What is common for default routes to do?

What are the network address and subnet mask specified as?

What do the zeroes indicate?

Where is the final default route located and what does it?

What is gateway of last resort?

If the enterprise uses a dynamic routing protocol, what can the border router send?

5.2.1 Distance Vector Routing Protocols

What are the two major categories of dynamic routing protocols?

What information do routers running distance vector routing protocols share with directly connected neighbors?

What do the neighbor routers do?

What does a router running a distance vector protocol know about the network?

What does distance vector protocol use to the determine the best route?

Based on what information does distance vector protocol calculate the best route?

5.2.1 (2)

What are the advantages of distance vector protocols and disadvantages?

What do routers using distance vector do to their neighbors?

If a router learns more than one route to a destination, what does it do?

What are RIP versions 1 and 2?

What is EIGRP?

5.2.2 Routing Information Protocol (RIP)

What is Routing Information Protocol (RIP)?

What is the first version of RIP called?

What does RIPv1 broadcast by default?

RIPv1 is  classful routing protocol. What does it do to the classful boundary?

What is classful boundary?

What is the disadvantage of only receiving 172.16.0.0 Class B network for 172.16.1.0/24 and 172.16.4.0/24 and what does that mean?

Take a look at the configuration on the right.

5.2.2 (2)

What is RIPv2 and what are the improvements from RIPv1 to RIPv2?

What are the similarities and dissimilarities between RIPv1 and RIPv2?

Take a look at RIPv1 and RIPv2 Routing Updates on the right.

5.2.2 (3)

What are the features RIPv2 share with RIPv1?

What does each RIP-configured interface send out, when a router starts up?

Based on what criteria does the receiving router evaluates each route entry?

Click to play the request/response process.

5.2.2 (4)

How are RIPv1 and RIPv2 compatible?

If a network must use both versions of RIP, what does the network administrator do?

Why may it be necessary to use both versions of RIP within an enterprise?

What commands to use to customize the global configuration of an interface?

5.2.2 (5)

Do the activity on this page.

5.2.3 Configuring RIPv2

What are the three commands does the basic RIPv2 configuration consists of?

What is the command for RIPv2 to propagate a default route to its neighbor routers as part of its routing updates?

5.2.4 Problems with RIP

Both versions of RIP automatically summarize subnets on the classful boundary. What does this mean?

What is the difference between RIPv1 and RIPv2 in terms of automatic summarization feature? What is the command?

5.2.4 (2)

What issues would the broadcast nature of RIP updates cause?

What command to help solve the problem?

5.2.4 (3)

Why does a network running Rip need time to converge?

What is count to inifinity?

What does infinity occur in the RIP routing protocol?

How do routing loops affect network performance and how to combat this impact?

What does poisoned reverse do and how does this happen?

Play the rollover on the right.

5.2.4 (4)

What is the advantage of and disadvantage of anti-loop feature of RIP?

What does split horizon do?

What does holddown time do?

What is the default holddown time?

What is the disadvantage of holddown time?

What is triggered update and what does it do?

Play the rollover on the right.

5.2.4 (5)

5.2.5 Verifying RIP

What do show ip protocols and show ip route commands do?

What are the commands that specifically verify and troubleshoot RIP?

Why do nor use the debug commands more than necessary?

Take a look at the figure on the right.

